300x 6-300 Lo n

gogn 300x =300 OO DOoog
godn gogobbobbouodooooon
HEN 21.00/0
goon 0 0:CBO

go:0oo

0000 :10MPa
goon goobobobbboooooon
ERERERN 18703187870
ot

0x 6300 D DODOOuooogn

JOoDbDpbo3eoxe-300 000000 odoobbobbboodoobbobbodoooUoobbasoo
xe-Uuudoopoooooogsouoogobebbbcbbogooooboobboooooan
gO3e0x e-300 000000000 ooobobbbbooooobobbboooooooboboobo
gobbobbobogs3ox e-300budugueBd0d0noonooooogasexe-o0ddnonon
cBU U

guodoobobbooooouoobbbooaada

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobobbooooooobo

ilggbobobobbodoooobooobboooooobobbbodoooobobobbooooaad
goobobbooooooobbbbbdooooobbbbbuooogg

ijduobobobbooooooub bbb b bbb bbobog
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guoduobbbtbgoouobobobboooouobbbbouoooda
sjgdgubbbbtbdooduuoboeBODbbObOEPODODO0OODOOUDDODDDODOOOCBOD OO
gocsud

O0000000D0O0O0OGB/T18173.2-2014

guooooon



OO0D00O0DO0OAD 60+ 5

O000MPaz 10

O0000%= 380

O000OKN/mO = 30

O000 0700 x 24h0 %< 35

[0 230 x 168h10 % < 20

gooon

O700x 168h0 DO D OODOAO < D8

OO000MPaz 9

O0000O%= 300

JoboobOoOo0ooooobbbbbboooooboboes1si7dz2-2040 00000 bO
gooo


http://www.tcpdf.org

